
BAPHL 14 – Anomaly (2015 – 2016) SOLUTION 

 

The five round answers are, in no particular order: 

EGGCUSTARD 

DINOSAUR 

OPERACLOAK 

DYNAMO 

DEADWOOD 

Each answer contains exactly one two-letter state abbreviation, and will fit in the blanks as long 

as that two letter abbreviation is treated as a single “character”:  

(DE)ADWOOD 

OPERACLO(AK) 

EGGCUST(AR)D 

D(IN)OSAUR 

DYNA(MO) 

Next, you’ll need to look at the incorrect US Map in the reference sheet, as hinted by the star 

icon.  The corresponding capitals are: 

Bridgeville, DE 

Anchorage, AK 

Pine Bluff, AR 

Fishers, IN 

St Peters, MO  

 

Finally, use the position of the star to index into the capital name to get the answer BEFIT. 


